
Answers – VOLUME 2: STRESSES, STRAINS, DISPLACEMENTS 
Chapter 5, Shear Forces and Shear Stresses Due to Bending problem 5.070, page 406 
 
Remarks: See §5.2.3, pages 288 till 394 
 
Answers:  
 
10 ring dowels are needed 
 
Explanation: 
 
Cross-section properties: 

6 3(60,75 10  mm )zzI b= × ×  
a 3 2(101,25 10  mm )zS b= × ×  

 
The shear force per length is: 
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The total shear force is: 
a 3 -1 3d (1,67 10  mm )(24 10  N)(4750 mm) 190380 Nxs x −= × × =∫  

The number of dowels needed are: 
190380 9,52 10
20000

n n≥ = ⇒ =  
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